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f(x)=P,(x)e*"* + P (x)e""', m=max{l,n}

yn_l_ pyr_l_ qy — Pm(x)e(i+ia))x’ y1 — Xkae(lHa))x,

y _|_ py _|_qy F) (X)e(/1+|a))x yl — Xkame(ﬂ—ia))x,

SYF=Y Y = xRe ﬂX[Q e'® +Q e '“’X]

= x“e*[Q.. (cos wX + i sin wX) + RN

Q.. (cos wX — i sin wX)]

= Xke’lx[%)l)(x)cosa)x+ %)(X)sina)x]
He RY(x),RP(x)2 MR EE,

H B v



y'+py' +qy=f(x), r’+pr+q=0

f(x)=e"[P,(X)cos®X + P (X)sin wx] B

Y = Xkeﬂx[lﬁ(l)(x)cosa)x+ R@)(X)sina)x] ﬂaa

He RV (x),R? ()2 mAXZH, m=maxi{l,n}
0, A+tiofEBR
1, AtioRPR

E BRI AIHET BlnkiE RBEAEFT R G R
DHIE.

kK =

-~ N R



B2 g2y +y=4sin x BB R

i f(x)=4sinx =e"(0cos X +4sin X)

BFe™ [PI (X)cos wX + P_(X)sin a)x] AL

(HAPA1=0,0=1, =0, n=0)

(1) kT,

19

19

FAEAR
Higmw

NFRGIE Y +y=0 BIERE

SESTE ri+1=0

r =+

Y =C, cos X+ C, sin X

= I



f(x)=e"*(0cos X +4sin X) [}i ioﬁ f()z 1]
(2) KAEFTR B IERVFFRE. & S
y* = X’[ Acos X +B sin X]= x(AcosX + Bsinx)

Atio= 011 B4FIER.
y*' = (AcosX + BsinX) + X(—AsinX + Bcosx)

4 3=

y*"" = 2(—AsinX + Bcosx) + X(—AcosX — Bsinx)

KNG, ZIB1S —2AsinX + 2Bcosx = 4sinX

—2A=4, A=-2 ,
= S Yk =-2Xcos X
2B-=0, B=0
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SFRFGFIERIEMRHA Y =C,cos x+C,sin X
JFRERF@RA y*=-2Xcos X

y=C, cos X+C,sin X —2Xcos X.
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13 SRAFFEY"+ y= Xcos 22X HI—1M
2 FHERTE r’+1=0

4 9=

i

A=0w=2, Atio=X2i IT=
i
RAFT21E

FAEAR,

FHEA vy =(ax+Db)cos2x+(CcXx+d)sin2x

(-3ax-3b+4c)cos2x—-(3cX+3d +4a)sin2x = Xcos2X

f

-3a=1
—3b+4c=0
-3c=0
*—-3d+4a=0
1

EEBIRHL, 15+

4B

KT —

=

XE—1

q:

3

Sood=—

d=—

1
3’ 9

=0
4

4588 Y =——Xcos2X+—sin2X.
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14 RBHE V' +4y= %(x +cos 2X).

i
P

4

HESTE r'+4=0, 1, =+2i,

WIS HARBEER Y =C cos2x+C,sin2Xx.

WESTRISIEA v =y .

(1)

1
V' +4y=3 % m=1La=0 TRHFER

. % . - 1
%y =ax+b, RAFIEE 4dax+4b= 5%

, 1 r 1

4a=_, a=§) ) 1
3 2 1S < T 8X;
\4b=0, \ b=0’

N -



A |
r,=%2i, Y =C, cos2x+C,sin2x, Y, =§x

(2) y"+4y =%cos X,

m=0,1=0,0=2, 1+wi=+2iR4F{ER
% Y, = X(Ccos 2X +d sin 2X),
KANFIES 4dcos2x—4csin2x = ;COSZX,

r 4d — ;’ [ C= 0’
y Bl {1 Y= 1XsinZX;
L 4C — 0) \ d — g’ 8

iR IERVIER A

y=C1cos2x+C2sin2x+;x+;xsinZX.
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@a

1.8 & y"+y = f(x) fg ==l
1) f(x)= xcos x FIAIE4ES

V¥ = X [(ax+ b)cos X + (CX + d)sin x]
) f(x)= xcos2x +e** RIAIE4FHEA

=(ax+b)cos2x+(cx+d)sin2x+ke*”

BR f(x)=e*[P(x)coswx+ P (x)sinwx ]

ke IRV (x)cos @ X + R?(x)sin® X]

yr=x'e
mzmax{n,l}

H B s



2. BHI-_MENSFIEY +ay' +

by =ce* B

y=e X1+ xe™), KNS HIEHIBERE .

i BERBAADESEFN

(1-a+b)e " +2+a)e*+(1+a+b)xe*=ce”

1-a+b=0
LR EHB {2ra=c —-
1+a+b=0

WIEREAR y'—y=2¢e"
MMFTRAGEBEBEY =C, e +C,

fa=10

b=-1

. C=2
y=e"+Xxe

a-

ErEE#EA y=C,e"+C,e7" +xe’
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1. 5SS SI2HNIEA IR
2. T RN RGN S TR
V'+py'+qy=0 (p,q AFEH)

A

%ﬁEﬁii r2+ pr+q=0, :I::Tl-fﬁE*Erprz

FF AE R

i i

y=C,e''"+C,e'?’
y=(C,+C,x)e"’
y=e%"(C, cos B x+C,sinf X)

H B



3. BRABEEST AR S HIEK

iﬁ y*= XkelXQm(X)a
(0 ANEIR;
k=31 AREBiR;
2 ARER.

£
M) f(x)=e"P,(x), AATAREH)

FERBE

I s



(2) f(x)=e™[P (X)coswX + P_(X)sin @wx],

y' = xkeﬂx[lﬁ(”(x)cosa)x+ I%%)(X)sin(ox]

e RO (x),R? ()2 mRETH, M = maxil,n|

0 Atiol E1R

K =<
1 AtioBBER
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1) A5 ELE 2) FIXK
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D &SR e
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]
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FERBA L
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ABUTILR

THEARERT. Brdl. it 2drgelt.

FRIERAETTR B RBIERR R
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BIE AL BERSITE-
FETRET I e REUT I

T EVGEFRMD TR, SBRITE
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D 5IAESHHREMHEZE;
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4) SeXKEME, BRTHE
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B A {51 @it

Bi1.(e") —eX)dx + (¥ +e¥)dy = 0.
Bi12.(1+ 2" )dx + 2e” (1= 2)dy = 0.
y

513, P157 =Z]ER 6
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{5114
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56,

Y ] 2

Xy'ln X+ y =ax(In x +1).

y'=3y'=4y=0,y,,=0,¥"[,,,=-5.
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